EARAROBEEIERT — 2 N— IBISH —F

201854 A 158 (B) 2EIKR2H

4R [oFFE R B I
[A&4£] 1 7% :200,000" ~ 23%&:46,000”  33%&:26,000H”  43%&:18,000 M .~ 57 :10,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S N . Ra 3T i :29. -3-2- . — TREAZE (B
1B 3| R*FTF7 T2 TR0 1(2_9)7 Seez BT 1 36) N EEPN
LFFHRTFFLDd BxFAO—F HE77—»4L
S TR — :30. -1-1- . = REGAE (X
2 9 Ly RTS5wH L 4 6 oy 1(340)3 1-1-1-1 | 39.5 2 (ztf; éﬁg;é%_u
L:FFHXTFTd BRTULITTIA BT 7 —L4
s B4 | WUABER 1:31.2 4-4-4-3 |39.8| — 8 453 | BIUfE— (KR
sl 6 P7xH—%v b 54.0 ® o) | EIIE—
AT FULKRR BHTIRT—= =RiERS
s 4 5 | #BAt 1:31.5 5-6-6-5 |39.9| — 4 494 | AREHBAE (EEFH)
4|5|5| 777 #¢55.0 (1 3/4) (1) | KARFE
LihrnN=— B:TIVEXIFIN BB ANS
o= Ho6 | WAEE 1:31.5 7-7-7-7 [ 39.3| — 3 487 | MMEE (KIR)
5l7|7|bN=2— 56.0 (74%) (o) | EAERE
R A bk—b BixAATHECTI [P
. .= . 1 | HEB 1:31.7 2-0-5— 40. = 42 BRAS (KR)
6l7|8|7>7TARI1T "Et 54.0 & A ° (_12) RS
RHTIRIAY BSE—FS v UF aiutie
oo e N ERREE . —~5-3- - 1&iEthEl (KR
7 NPT r i 6 = 1.(332).2 6-5-3-4 | 40.8 7 z:g()) i
LNn—ErTv— B:XMNJ—=RXETL TADAS
sl | E7/a>Fivh % 6 | Bmigs e 10-8-9-9 |39.8| — | 9 | 418 fgg (KiR)
RRFAT—NE B ETIUHA a0 02| s
N e o5 | SHATE 1:32.6 8-10-8-8 |40.0| — 5 498 |ERAEZ (KR)
9|8 10| ¥=F-TF X} .0 @) o) |BEEE
R:hREXRY BAAEIFTE— =t
= BN :34. -9-10- . — BRAS (KR)
wolil11#7579z1 H 5 A 1(354)1 9-9-10-10 | 41.4 10 (4_933) ?smnﬁ%
LN—E>Tv— B:HIIILTLZR BEZRZ Y b
® 1—F—@EBIERL
1T=7r= 9,8,3,6,5,4,7,10,1,2
2a=5"= 9,8,3,6,4,5,7,2,1,10
Ja=5= 9,3,4,6,8,5,7,10,2,1
43—+ — 9,3,6,4,5,8,7,10,2,1
[ N5
B 3 210H 714K 3-9 170 e E 3-8 210 JEE 3-6-9 4,360
B B 3 1004 3-6 1,060M B = 3-9 230 JEE 3-9-6 13,980M
9 120 6-9 2,090 B H 3-9 490M
6 410M

ABICOVWTRDTEEERROODE. TR LIV,




